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3aganme 1. [IpounTaiiTe U NepenuIIUTE MPEAIOKEHHS, UCIIOJIb3Ys HYKHYIO
dbopmy mpuuactus, o0Opa3oBaHHYI OT TJaroja B CcKoOkax. IlepeBeaute
MPEIJIOKEHUS HA PYCCKUU SI3BIK.

1. We need highly (to develop) electronics and new materials to make
supercomputers.

- We need highly developed electronics and new materials to make
Su percomputers. - Ham HY>XHBI BBICOKO PAa3BUTHIC 3JICKTPOHHWKA U HOBBIC MaTCPpHUAJIbI
I IIPOU3BOACTBA CYIICPKOMIIBIOTCPOB.

2. New alloys (to appear) during the last decades, among them a magnesium
lithium alloy.

- New alloys have appeared during the last decades, among them a
magnesium-lithium alloy. - HoBrle crijiaBel MOSBHINCE 3a IMOCIEIHHUE JCCATUICTHS,
Cpcan HUX MarHHUEeBO-JIUTHUEBBIN CIIJIaB.

3. (To drive) a car a man tries to keep steady speed and watch the car in front
of him.

- Driving a car, a man tries to keep a steady speed and watch the car in front
of him. - Ynpagssis aBToM0oOMIEM, YEIIOBEK CTapaeTCsl MO ISP KUBATH MTOCTOSHHYO
CKOPOCTb U CJIEIUTh 32 MAIIMHON TIepe] COOOM.

3ananue 2. Ilepenumure npemnoxeHus. [IMcbMEeHHO TmepeBeAUTE HX.
[ToguepkHUTE TPUYACTHE U B CKOOKAX YKaXUTE, KaKyI0 (YHKIHIO B MPEIJIOKEHUN
OHO BBITIOJIHSACT.

Oopazern: The man waiting for you has come from Paris. — Yenogek,

OKMIAIIIMI Bac, mpuexan u3 [lapmwka. (DyHKIus — onpeneneHue).

1. The high gas temperatures caused increased slagging of the boiler surface.

Bricokue TtemmepaTypbl ra3a BbI3BaJM YBEJIWYCHHE HIJIAKOOOPA30BAHUA Ha

MOBEPXHOCTH KOTia. (DyHKIUSI — ONpeiesieHue).
2. Valves are opened periodically and some of the boiler water is blown to

sewer, thus carrying out of the system the impurities. - Knanausl nepuoandecku

OTKPBIBAIOTCA, MU 4YaCTb BOJAbI M3 KOTJa CJIHMBACTCA B KaHAJIMU3AIlUIO, TCM CAMbIM

BBIBOJIS 13 crcTeMbl ipuMecH. (DyHKIUS — 00CTOSATEILCTBO IPUIHHBI)



3. The boy writing a letter is my sister’s son. - Majgb4vK, UMY THCHMO,
SIBIIICTCSI CBIHOM MoeH cecTphl. (DyHKIUS — onpe/ieicHre)

4. The man sitting at the window made an interesting report about the origin
of the English language yesterday. - MyxunHa, cHMASIMA Yy OKHA, CHejall
WHTEPECHBINA JOKIIAJ O MPOUCXOKICHUHM aHTJIMUCKOTO s3bika Buepa. (PyHKIus —
OTIpEICIICHHE)

3aganme 3. I[lpouumTaiiTe mNpeAIOKEHUs, NUCBMEHHO HUX IEPEBEAUTE.

Haiinure u moJuepKHUTE B HUX HE3aBUCUMBIM MPUYACTHBIA 00OPOT.

Oopasem: My colleague being away, | had to take the decision myself. — Tak

KaK MOW TOBapHil MO padoTe OTCYTCTBOBAJ, MHE MPHUIUIOCH CAMOMY HPHUHSITh
pellIeHue.

1. With water being cooled, the rate of the reaction was low. — Tak kak Boaa

ObLJ1a OXJTKIEHHOM, CKOPOCTh PEAKIIUU ObljIa HU3KOM.

2. The temperature being raised, the kinetic energy is increased. - Tak kak

TEMIICPATypa NOBbIMAIACH, KNHCTHYCCKAs SHCPIUs YBCINMINBAJIACDh.

3. The young physicist having discovered Newton's error, other scientists

confirmed it. - OmmoOkxy HploTOHA, OTKPBITYIO MOJIOIBIM (DPU3UKOM, ITOATBEPIUIH
JIPYTUE YUYEHBIE.

3ananme 4. lleperumure mnpemnoxeHus. IloguepkHure HMHPUHUTUB U
YKaXUTE, KakKyl (YHKIUIO B TpemIoOKeHHMH OH BoinodHseT. IlepeBenute
IIPEIIOKEHHUS.

Oo0pazen: He stopped to speak to Mary. — OH ocTaHOBHJICS, YTOOBI
noroBopuTh ¢ Mapu. (DyHKLHS — 00CTOATENBCTBO LIEIIN).

1. To recover waste energy two major types of hardware are required:
combustion equipment and heat transfer equipment. - Jlns pekyneparyu
oTpabOTaHHOM »HHEPruu TpeOYIOTCS JBa OCHOBHBIX THIA OOOpYIOBaHUS:
00opyIoBaHUE JJISl CKUTAHKS U 000pyJIoBaHue Ui nepeaaun tervia. (DyHkius:
0OCTOSITEIILCTBO 1IEJIN).

2. Parameters to be measured in a control experiment include density and

temperature of the fuel. - Ilapamerpsl, KOTOpBIE HEOOXOAMMO H3MEPHUTHh B



KOHTPOJIbBHOM OBKCICPHUMCHTC, BKIIOYAIOT INNIOTHOCTbL M TEMIICPATYPY TOILIMBA.
(DyHKIHS: OIpeeIeHNne (KOoCBEHHOE JIOTIOJIHEHHUE, BBIpaXKaroIee
HEO0OXOJIUMOCT).

3. Our duty is to study well. - Hama o0si3aHHOCTH - XOpOIIO YYHTHCS.
(PyHKIMA: cocTaBHAs 4YacTh MMEHHOH yacTH (melicTBHE, KOTOpPOE HEOOXOIUMO
BBITIOJIHSTB).

4. To develop the supercomputer, highly developed electronics and new
materials were required. - [I;1s1 pa3paOb0TKH CYIIEpPKOMITbIOTEpA TPEOOBAIKMCH BHICOKO
pa3paOoTaHHas DJICKTPOHMKA W HOBbIe MarepHalibl. (DyHKIHMA: 0OCTOSATEILCTBO
TICITH).

5. Some materials with new useful properties may be produced in space. -
HCKOTOpBIe Marcpuajibl € HOBBIMH II0JIC3HBIMH CBOMCTBaAMH MOTI'YyT OBITH
npousBeficHbl B kocMoce. (DyHkums: npeaukaThBHas Qopma  (BBIpaKacT
BO3MOYXHOCTH JICUCTBHS).

3apanue 5. Ilepermmmure mnpemnoxenus. Omnpenenure Complex Object/
Complex Subject. ITpemtoxeHus nepeBeanTe.

Oopaszem: We know Professor N. (him) to be a good specialist in this field. —
Msi 3Haem, uyto mpodeccop H. (oH) Xopommi cHernuaiuct B 3TOM 00JacTu.
(Complex Obiject).

1. The film festival was reported to take place in July this year. - CooGruu,
uto (ectuBanb GUIBMOB TpoiaeT B utojie storo roaa. (Complex Subject).

2. This region proved to be protected area. - DTOT peruoH okasajics
oxpansemoii reppuropueii. (Complex Subject).

3. We saw the postman slip a thick envelope into the box. - MsI yBuzaenu,
KaK IMOYTaJIbOH IOJIOKHII TOJICTBIN KOHBEPT B KOpoOKy. (Complex Object).

4. The house seems to have been damaged by the earthquake. - Kaxercs,
4TO JI0M OBLT MOBpEXkaeH Bo Bpems 3emuetpsicerus. (Complex Subject).

3apanue 6. Ilepenmmmure npennoxkenus. lloguepkHuTe TepyHIUd U

onpenenuTe ero PyHKIUIo B npeioxkeHun. [Ipenioxkenus nepeseaure.



Oopasem: His favorite occupation is reading. — Ero mrobumoe 3aHsTHE —
yTeHue (yutath). (DYHKIHS — 4aCTh COCTABHOTO CKa3yeMOro).

1. After having been subjected to severe testing the material was

recommended for us. - Ilocme TOro Kak MaTepuan IOABEPIVIA CEPhE3HOMY
TECTUPOBAHUIO, €0 peKOMeH10Bau HaM. (DyHKIHSA: 00CTOSTEILCTBO BPEMEHH).

2. They insisted on the questions being reconsidered. - Ouu HacTauBaiu Ha

TOM, YTOOBI BOIPOCHI ObLTH MepecMOTpeHbI. (DYHKIHSA: JOMOTHEHHE K TJIATr0ITy).

3. Man invented machines and instruments for making his life easier. -
YenoBek M300pen MallMHbI M WHCTPYMEHTBI Il OOJIETYEHMS] CBOEH IKU3HH.
(DYHKIUS: 00CTOSTEILCTBO LIETIH).

4. Examining water quality is a work of a chemical laboratory. - 3yuenue
Ka4yeCcTBa BOJIBI — 3TO paboTa XUMUYECKOM J1abopaTopuu. (DyHKIHS: O IISKAIICE).

5. The equipment for producing the fluid is divided into two major classes:
pumps for handling liquids and fans, blowers and compressors for handling gases
and vapors. - OOCopyaoBaHHE JJIsi TPOM3BOJICTBA KUIKOCTH JCIUTCA Ha JBa
OCHOBHBIX KJacCca. HACOCBhI JId pa6OTI>I C JKHUIAKOCTAMH M BCHTHIIATOPBHI,
BO3JYXOJYBKA U KOMIIPECCOPHI i paboThl ¢ razamMu W mapamu. (DyHKIUS:
0OCTOSITEIILCTBO 1EJIN U IOTIOJTHEHHE).

3ananue 7. [lepenuiuure u nepeBeAUTE YCIOBHBIE MPEITI0KEHUS.

1. If farmers in developing countries were given a decent price for their
produce they would be able to build a better future for their family, community and
country. - Ecnu 061 ¢hepMephl B pa3BUBAIOIIMXCS CTPaHaX MOJyYaId JOCTOMHYIO
IIEHY 3a CBOIO MPOAYKIIUIO, OHU CMOIJIM ObI MOCTPOUTS JIyulliee Oyayiiee /st CBoe
CEMBbH, COOOIIECTBA M CTPAHBI.

2. If Belgium won the European Soccer Championship in the year 2020 the
world would be amazed. - Ecnu Ob1 benbrus Beiurpaia yemmnuoHat EBpomsl 1mo
¢yt6oiy B 2020 romy, Mup ObuUT OBl TOPAXKEH.

3. Consumers would be much better off if accurate product information were
printed on the packaging. - TTotpeGuressiM ObLTO OBl HAMHOT'O JIy4IIIE, €CITU OBl Ha

yIaKOBKe Obljla HameyaTaHa ToYHas HHQpopMaIus o IpoIyKTe.



3aganme 8. [IpounTaiite TEKCT, NEPENUILNATE IO U NMEPEBEAUTE MHUCHMEHHO
1-i, 3-i1 1 4-ii ab3anpkl.

Direct-Current (DC) Generators

1. If an armature revolves between two stationary field poles, the current in
the armature moves in one direction during half of each revolution and in the other
direction during the other half. To produce a steady flow of unidirectional, or direct,
current from such a device, it is necessary to provide a means of rever- sing the
current flow outside the generator once during each revolution.

Ecan poTop (SIKOpb) BpaliacTca MEKAY ABYMH MMOJIOCAaMHU IMMOCTOSTHHOT'O
JICKTPUHYECKOI'0 II0JIsA, TOK B POTOPEC ABHKETCA B OAHOM HaIpaBJICHUMU B
TCUYCHUEC MOJOBUHbBI KAaXKIO0I0 060p0Ta H B APYIroM HalpaB/JICHUH B TCYCHHC
Apyroi M0JIOBUHBI. Yro0bI odecrneynThb MOCTOSIHHBIU MOTOK
OJHOHAIIPABJIECHHOI0, HWJIH MNOCTOAHHOIO, TOKAa OT TaKoro yCTpOﬁCTBa,
HE00X0UMO NPeayCMOTPETh CPeACTBO IJs1 H3MEHEHHsI NMOTOKA TOKAa BHeE
reLeparTopa oiMH pa3 BO BpEMA KaKA0ro0 060p0Ta.

2. In older machines this reversal is accomplished by means of a com- mutator,
a split metal ring mounted on the shaft of the armature. The two halves of the ring
are insulated from each other and serve as the terminals of the armature coil. Fixed
brushes of metal or carbon are held against the commutator as it revolves, connecting
the coil electrically to external wires. As the armature turns, each brush is in contact
alternately with the halves of the commutator, changing position at the moment
when the current in the armature coil reverses its direction. Thus there is a flow of
unidirectional current in the outside circuit to which the generator is connected. DC
generators are usually operated at fairly low voltages to avoid the sparking between
brushes and commutator that occurs at high voltage. The highest potential
commonly developed by such generators is 1500 V. In some newer machines this
reversal is accomplished using power electronic devices, for example, diode
rectifiers.

3. Modern DC generators use drum armatures that usually consist of a large

number of windings set in longitudinal slits in the armature core and connected to



appropriate segments of a multiple commutator. In an armature having only one loop
of wire, the current produced will rise and fall depending on the part of the magnetic
field through which the loop is moving. A commutator of many segments used with
a drum armature always connects the external circuit to one loop of wire moving
through the high-intensity area of the field, and as a result the current delivered by
the armature windings is virtually constant. Fields of modern generators are usually
equipped with four or more electromagnetic poles to increase the size and strength
of the magnetic field. Sometimes smaller interpoles are added to compensate for
distortions in the magnetic flux of the field caused by the magnetic effect of the
armature.

CoBpeMeHHbIE  TeHEpPATOPbl  MOCTOSIHHOTO  TOKA  HCHOJbB3YHT
6apaﬁaHHLIe POTOPLI, KOTOPHLIEC OOBIYHO COCTOSIT M3 00JBLIION0 KOJHYECTBA
00MOTOK, YCTAHOBJICHHBIX B NPOJOJbHBIX NMPOPE3fiX CepAeYHHUKA SIKOPS M
MOACOCANHECHHDBIX K COOTBETCTBYIOLIIUM CermMmEeHTaM MHOKECTBCHHOI'O
KOJUICKTOpAa. B sAAKOpe, MHMMEIEM TOJbBKO OJHY MHIE€TJI0 IIpoBOAA,
BbIpaldaTbiBaeMblidi TOK OyJdeT YBeJIHYHUBATHCH WJIM YMEHbIIATHCH B
3aBUCHUMOCTH OT YaCTU MArHUTHOIO IMOJIfI, Y€PE€3 KOTOPYIO NMPOXOAUT METJIsA.
MHoOrocerMmeHTHbIII KOMMYTATOP, MCIOJIb3yeMblil ¢ O0apa0aHHBIM SIKOpeM,
BCeraa nmoaAKJIKOYAEeT BHCHIHIOK IICIIb K OIlHOﬁ merJjae mposoaa, leOXOIlﬂlIIeﬁ
yepe3 30HY BbICOKOI HANIPSIKEHHOCTH T0JISl, U B pe3yJibTaTe TOK, I0JAaBaeMbIH
o0MOTKAMH fIKOpPSl, MpaKkTU4ecku mnocrossHeH. Iloasi coBpeMeHHBIX
reLepaTopoB 00BIYHO OCHAIIICHDbI Y€TBIPbMS WJIH 0oJ1€e ANEKTPOMATrHUTHBIMUA
moJirnCaMM Jist YBCJIMYECHUA pasMepa U HANPHAKCHHOCTH MArHUTHOIO I10JIs1.
I/IHOFIla IlOﬁaBJIHIOTCﬂ MEHbBIINEC MCECKINOJICHUKHU [OJd KOMIIEHCaAIUu
HCKAKeHUl MArHMTHOI'0 NOTOKAa 110J151, BBI3BBAHHBIX MAarHUTHBIM 3(l)(l)eKTOM
AKOPH.

4. DC generators are commonly classified according to the method used to
provide field current for energizing the field magnets. A series-wound generator has
its field in series with the armature, and a shunt-wound generator has the field

connected in parallel with the armature. Compound-wound generators have part of



their fields in series and part in parallel. Both shunt-wound and compound- wound
generators have the advantage of delivering comparatively constant voltage under
varying electrical loads. The series-wound generator is used principally to supply a
constant current at variable voltage. A magneto is a small DC generator with a
permanent-magnet field.

I'enepaTopbl MNOCTOSSHHOTO TOKAa OOBLIYHO KJIACCHPUUUPYIOTCHA B
COOTBETCTBUM C METOAOM, UCIIOJb3YyEMBIM IJIA MMOAAYN TOKA B036y)KIleHI/IH Ha
BO30YyK/J1aK01IHe MATHUTHI. Y TeHepaTopa ¢ MocJaeJ0BaTeJIbHOM 00MOTKOM 1oJ1e
MOJAKJIIOYEHO MOCJIeI0BATEeIbHO K SIKOPIO, 2 y I'eHepaTopa ¢ LIYHTHPYHILuel
00MOTKOH T10JIE MOAKJ/IIOYCHO MMapajjieJIbHO HAKOPIO. FeHepaTopbl C
KOMﬁHHI’lpOBaHHOﬁ O00OMOTKOH YaCTHYHO NOAKJIYECHBbI NMOCJIea0BaTC/JIbHO, A
YacTUYHO napajienbHo. IIpeMMylecTBO0 reHepaTopoB ¢ HIYHTHPYIOILIEH U
KOMOMHHPOBAHHOM 00MOTKAMM B TOM, YTO OHHM 00€CNeYNBAIOT CPABHUTEIbHO
NMOCTOSIHHOE HAaNpsiZKeHHe IPH Pa3sInYHBIX JJIEeKTPHYECKHX Harpy3kKax.
FeHepaTop ¢ mocjaeaoBatrcjbHbIM MOA3aBOAOM HCHOJBL3YETCA IJIaBHbBIM
06pa30M A 1oAY MOCTOAHHOI0O TOKAa MNMPH IIEPEMEHHOM HAIPHKCHHU.
MarHero - 3T0 HeOOJBIIOW TeHEPATOP MOCTOSHHOIO TOKAa C IOJIeM
MOCTOSAHHOI'O MarHuTa.

3aganue 9. IlucbMEeHHO OTBETHTE Ha BONPOCHI K BBIMICTIPUBEICHHOMY
TEKCTY.

1. How does the current in the armature move if it revolves between two
stationary field poles? - Kak gBukeTcs TOK B sSIKOPe, €CJIM OH BPAIIAETCS MEXKITY
ABYMA IMMOJHOCAMH HEMOABHUKHOI'O I[OJIH?

The current in the armature moves in one direction during half of each
revolution and in the opposite direction during the other half. - Tox B sikope
ABHOKCTCA B OJHOM HaAIIPABJIICHHMK B TCUCHHC IIOJIOBHHBI KaKIO0I'O 06op0Ta U B
IIPOTHUBOIIOJOKHOM HAIIPABJICHUHU B TCUCHHC I[perﬁ IIOJIOBHUHHEI.

2. Why do DC generators usually operate at low voltages? - Ilouemy

reHepaTopbl MOCTOSIHHOTO TOKA 00BIYHO PA0OTAIOT MPU HU3KOM HANPSKEHUH ?



DC generators typically operate at low voltages to minimize the likelihood of
sparking between the brushes and the commutator, because at higher voltages, the
risk of sparking increases, which can lead to significant wear, damage, and
inefficiencies in the generator. - ['eHepaTOpbI TOCTOSTHHOTO TOKA OOBIYHO pabOTAOT
IIpyu HHU3KOM  HAIIPAKCHUU, YTOOBI CBECTH K MHUHUMYMY  BCPOATHOCTD
BO3HUKHOBCHHUA HCKP MCKAY HICTKAMHU W KOJIJICKTOPOM, IIOCKOJIBKY IIpH ooJtee
BBICOKOM HAIIPsKCHUHW PHUCK BO3HHUKHOBCHHUA HMCKpP BO3pPACTACT, YTO MOKCT
MPUBECTH K 3HAYUTEIIBHOMY HW3HOCY, MOBpEXIeHUIO M HedhdekTuBHON pabdoTe
re’separopa.

3. Why are the fields of modern generators equipped with four or more
electromagnetic poles? - IlouemMy moJisi COBpeMeHHbIX TeHEPATOPOB OCHAIIEHBI
YETHIPbMSA UJIH 0oJ1ee INEKTPOMATHUTHBIMM MOJII0CAMH ?

The fields of modern generators are equipped with four or more
electromagnetic poles to enhance the size and strength of the magnetic field. A
stronger magnetic field improves the efficiency of the generator by allowing for
higher voltage and better current delivery. - Ilons COBpeMEHHBIX TeHEpaTOPOB
OCHAIICHbI YCThIPbMS UJIN Ooiee QJICKTPOMAriuTHBIMU ITOJIFOCAMH IJIs1 YBCIIMYCHUA
pasMEpa U CHJIbI MAaIrHUTHOTI'O IIOJIA. bonee cuiabHOE MAarHUTHOE IIOJIE IOBBIIIIAET
a3 PeKTHBHOCTD TeHEpaTOpa, obecTieurBas 00yiee BBICOKOS HAPSHKEHUE U JTYUIITYHO
1nojavy Toka.

4. How are DC generators commonly classified? - Kak o0bI14HO
KJIacCH(PUIUPYIOTCSI TeHEPATOPbI MOCTOSIHHOTO TOKA?

DC generators are commonly classified according to the method used to
provide field current for energizing the field magnets. The main types are: series-
wound generator, shunt-wound generator and compound-wound generator. -
['eHepaTopbl OCTOSIHHOTO TOKa OOBIYHO KJIACCU(DHUIMPYIOTCS B 3aBUCUMOCTH OT
MCTO/JI4, HCIOJb3YyCMOI'0 IJIAd 066CH€‘ICHI/IH TOKa B036Y)KI[CHI/I$I MAar"duToOB.
OCHOBHBIMM THUIIAMH SBJISIFOTCS: TE€HEPATOPBI C TOCIEAOBATEIIbHOW OOMOTKOM,
TeHEepaToOphl C IMYHTHPYIOMEH OOMOTKOW W TEeHEpaTophl ¢ KOMOWHHPOBAHHOMN

0OMOTKOM.



3aganme 10. Vcnonb3ys TaHHBIE CIIOBA, COCTABBTE MPEIJIOKEHHUS

1. two, armature, poles, between, revolves, field, stationary;

2. operated, DC generators, low, are, fairly, voltages, at, usually;

3. DC generators, armatures, use, modern, drum.

1) The armature revolves between two stationary field poles, generating
alternating current that needs to be reversed for producing unidirectional current.

2) DC generators are usually operated at fairly low voltages to minimize
sparking between the brushes and the commutator.

3) Modern DC generators use drum armatures, which consist of multiple
windings designed to produce a more constant output voltage.

3ag!aHne 11. IlocTaBbTe IMPCAJIOKCHUC B BOIIPOCUTCIIbHYIO H OTPHUIATCIIBHYIO
(bOpMBL.

DC generators are commonly classified according to the method used to
provide field current.

Bonpocurensnas ¢popma: Are DC generators commonly classified according
to the method used to provide field current?

OtpunatensHas ¢opma: DC generators are not commonly classified

according to the method used to provide field current.



